Hindi i<t

M, Y

Ekh

D,

ath' gd’ _(gdh’

C

2‘I-th ad ?Idh

S

[SK

‘J-l-bh ]:l-m

q,

f

G

example

g, dt,

T
U, U,

gb I = 15 [10)) 10
(]
G 3 el ey 0, -
.m m S o © =
8 e O |
m 10 S 10
m W - 1
a5 W 5
s
S8 .| —| 7| ©
s >
B i ey ke
h
(7]
© — = Q (o] =




Conjunct consonants
Consonants with no vowels between them may join to form a conjunct consonant:

o 24 of the consonants contain a vertical right stroke (9 kha, d ta, ¥ sa etc). As the
first or middle member of a cluster, they lose that stroke and join with the next

consonant, e.g. 9 + & = Wb khka, d + d = d tva, H + Y = ¥ stha.

o X[ sha becomes a simple loop before - na, d ca, X ra, d va, shifting the second
member down and reducing it in size. Thus ][ + " = H shna, ][ + d = ¥ shca,
R+ X = Hshra, [+ d = Y shva.

« As a first member, Y ra becomes a curve above the final character, e.g. X + d =
é rva, R +d+ = ?d rspa. As a final member with € t'a, @ th'a, S d'a, ¢ dh'a, S

ra, ® cha, it becomes an inverted v, thus ¢ tra, ¢ th'ra, ¢ d'ra, ¢ dh'ra, g rra, @
chra. Otherwise as a final member, it is a diagonal stroke pointing left and down,

eg. P+X=chkra, T+I=Ygra, d+X =9 bra, H+ I = Ybhra.
e @ ka and W pha have their right hooks shortened and joined to the next
consonant, e.g. @ + ¢ = dcT kla,  + H = W phsa.

o The remaining consonants lack vertical strokes, e.g. € t'a, ¢ th'a, S d’a, « da, ©
ha. Consecutive consonants are just placed side by side. Sometimes their

second member are reduced in size and placed underneath, e.g. & + Y =%
ddh, ¢+ H=<Idma,ca+ =< dya, & + H=&lhma, § + U = §l hya.
« The following are exceptions: ® + ¥ = & ksha, S + of = I jnya, d + d = d tta.
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Hindt Dilli = Delhi Ganga = Ganges Yamuna
Jqd dNHgd HWs  HRd
Brahmaputra Taj Mahal Mumbi = Mumbai  Bharat = India

3¢ U gl el

Urdd namaste = hello, goodbye han = yes nahin = no

YUdiq AT hifo U
dhanyavad = thank you maf Kijie = I'm sorry
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ap kad nam kya hai = what is your name? mera nam ... hai = my name is ...
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male: main samajha nahin tayalet kahan hain? = what is the toilet?

female: main samajhi nahin
= | don't understand



